Unit 2 Anatomy L3 Appendicular Skeleton Upper Extremity

The upper extremity is comprised of the following bones: ___________________

__________________
___________________
___________________
___________________
__________________

The shoulder girdle is made up of the following bones: ____________________

____________________
____________________
____________________

The clavicle is a double curved bone that helps keep the _______________ in position so that the arm can hang freely.

The clavicle articulates with the sternum to form the __________________________ joint. An abbreviation for this joint is the _______ joint.

The clavicle articulates with the _______________  _______________ of the scapula to form the 

_________________________ joint. An abbreviation for this joint is the _____ joint.

The medical name for the shoulder joint is the ________________________ joint. An abbreviation for this joint is the _____ joint.
The two bones that articulate to form the shoulder joint are the ____________ and the _________________
________________ of the _______________.

The medical term for the bones of the wrist is _______________. There are ____ individual wrist bones.

The medical term for the bones of the hand is __________________.  There are ____ hand bones.

The medical term for the finger bones is __________________. 

The articulation between the bones of the hand and the fingers is called the _____________________________

joint. An abbreviation for this joint is the _____ joint.

The bones of the hands and fingers are numbered from ___ to ___ beginning on the ________ side and ending on the __________  side.

The individual bone in each finger is called a ____________________.

The finger bone that articulated with the metacarpal is called the _______________   _________________.

The finger bone that is the tip of the finger is called the ____________________   __________________.

The finger bone that is between the proximal and distal phalanx is called the _______________  _____________.
The joint between the proximal phalanx and the middle phalanx is called the ____________

_________________________ joint. An abbreviation for this joint is the _____ joint.

The joint between the middle phalanx and the distal phalanx is called the ____________

_________________________ joint. An abbreviation for this joint is the _____ joint.

The thumb only has a ___________ and a _____________ phalanx.

